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const int MAXN=5e4+5,MAXM=1e5+5, MAXW= ;
struct Edge
int u,v,w,C;
bool operator < (const Edge &b)const
w<b.w| | (w==b.w&&c<b.c);

edge MAXM | ;

int p/MAXN];

int Find(int x
x==p[x|?x:p/x|/=Find(p[x]);

pair<int,int> solve(int n,int m,int w
_rep(i,1l,n)plil=1i;
_for(i,0,m
ledgeli].c
edgeli| . .w-=w;

sort(edge,edge+m) ;
int s1=0,s2=0;

_for(i,0,m
int x=Find(edge!i].u),y=Find(edgeli].v);
x!=y
pLxi=y,;

sl+=edge|i].w;
s2+=edge[i].c==0;

_for(i,0,m
ledgeli].c
edge/i].w+=w;

make pair(sl,s2);

int main
int n=read _int(),m=read int(),k=read int();
_for(i,0,m

edgeli].u=read int()+1;

edge/i!.v=read int()+1;
edgeli].w=read int();
edgelil.c=read int();

int lef=-MAXW, rig=MAXW, ans;
lef<=rig
int mid=lef+rig>>1;
solve(n,m,mid) .second>=k
ans=mid;
rig=mid-1;
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lef=mid+1;

enter(solve(n,m,ans).first+ans*k) ;
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const int MAXN=2.5e5+5,MAXV=1e6+5;
const LL inf=1e1l8;
struct Edge
int to,next;
LL w;
Edge(int to=0,LL w=0,int next=
this->to=to;
this->w=w;
this->next=next;

edge MAXN<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt|=Edge(v,w,head/ul);
head|u/=edge cnt;

struct Node

LL s;

int cnt;

Node(LL s=0,int cnt=
this->s=s;

this->cnt=cnt;

bool operator < (const Node &b)const
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s<b.s|| (s==b.s&&cnt<b.cnt);

Node operator + (const Node &b)const
Node(s+b.s,cnt+b.cnt);

void operator += (const Node &b
s+=b.s;
cnt+=b.cnt;

Node operator - (const Node &b)const
Node(s-b.s,cnt-b.cnt);

Node dp!MAXN ;
void dfs(int u,int fa
dplu =Node (0,0 ;
dplu =Node(-inf,0);
int i=head|ul;i;i=edge|i].next
int v=edgel[i].to;
v==Tfa ;
dfs(v,u);
dplu +=max (dp|v ,dplv ;

int i=head|ul;i;i=edge|i].next
int v=edgel[i].to;
==fa ;
dplu =max (dp|u ,dplu -
max (dp|v ,dplv +dp|v +Node(edge!i].w,

Node solve(int n,LL k
_rep(i,1,edge cnt
edge/i].w-=k;
dfs(1,0);
Node ans=max(dp ,dp ;
_rep(i,1,edge cnt
edgei].w+=Kk;

ans;
int main
int n=read _int(),k=read int();
_for(i,1,n

int u=read int(),v=read int(),w=read int

Insert(u,v,w);
Insert(v,u,w);

LL lef=-1LL*MAXV*n, rig=MAXV,ans;
solve(n,lef).cnt<k
puts("Impossible");

’

.
’
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lef<=rig
LL mid=lef+rig>>1;
solve(n,mid) .cnt>=k
ans=mid;
lef=mid+1;

rig=mid-1;

enter(solve(n,ans).s+ans*k) ;
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const int MAXN=2e3+5;
const double eps=1le-8;
struct Node
double s;
int cntl,cnt2;
Node(double s=0.0,int cntl=0,int cnt2=
this->s=s;
this->cntl=cntl;
this->cnt2=cnt2;
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void operator += (const Node &b
s+=b.s;
cntl+=b.cntl;
cnt2+=b.cnt2;

bool operator < (const Node &b)const
s<b.s;

int n,a,b;
double p/MAXN|,q ! MAXN], r MAXN/;
Node dp/MAXN!;
Node solve2(double kl,double k2
Node ans=Node(0,0,0);
_rep(i,1,n
ans+=max({Node(0,0,0),Node(p[i]-k1,
k2,1, C
ans;

Node solve(double k
double lef=0,rig=1;
rig-lef=eps
double mid=(lef+rig)/2;
solve2(k,mid).cnt2>=b
lef=mid;

rig=mid;

Node t=solve2(k, lef);
t.s+=lef*b;
it 5

int main
n=read int(),a=read int(),b=read int
_rep(i,1,n
scanf("sLf",&pl1i]);
_rep(i,1,n
scanf ("sLf",&qli]);
_rep(i,1l,n
riil=plil+qli/-plil*qli];
double lef=0,rig=1;
rig-lef>eps
double mid=(lef+rig)/2;
solve(mid).cntl>=a
lef=mid;

rig=mid;

printf("%.6Lf",solve(lef).s+lef*a);

?

’

’

,Node(qli]-k2,

’

,Node(r[i]-kl-
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